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QUESTION 1

Which of the following statements is true about Monitor Port Mirroring Sessions in NSX-T Data Center?
A. This feature requires a SPAN compliant appliance.

B. A source mirror port can be in more than one mirror session.

C. A source mirror port cannot be in more than one mirror session.

D. This feature requires an IPFIX compliant collector.

Correct Answer: C

QUESTION 2

Which two options are needed to configure NSX-T Data Center to access the Active Directory? (Choose two.)
A. Domain Controller Name

B. Distinguished Name

C. username

D. Port

E. netBIOS name

Correct Answer: BE

QUESTION 3

When creating a new Identity Provider (IdP) in Workspace ONE Access, which two methods are used to identify users?
(Choose two.)

A. SAML Attribute
B. NamelD Element
C. UserID Element
D. User Attribute

E. SAML Response

Correct Answer: AB

QUESTION 4
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In what order are NSX-T Distributed Firewall rules processed?

A. Top-to-bottom, left-to-right, finding a rule match the packet is processed per the rule and stops.

B. Left-to-right, top-to-bottom, finding a rule match the packet is processed per the rule and stops.

C. Left-to-right, top-to-bottom, finding a rule match the packet is processed per the rule and continues to next rule.
D. Top-to-bottom, left-to-right, finding a rule match the packet is processed per the rule and continues to next rule.

Correct Answer: D

QUESTION 5

Which are two use cases for NSX Intelligence? (Choose two.)

A. Perform day 2 network operations and troubleshooting.

B. Provide end-to-end network visibility for physical, virtual, and third-party environments.
C. Identify security vulnerabilities and automatically quarantine affected workloads.

D. Gain insight about micro-segmentation traffic flows.

E. Simplify rule recommendation and deployment.

Correct Answer: CD
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